[:7‘6'@ (B BIOGN e e

" (3 Hours)
[Total Marks 100]
N.B. 1) Allquestions are compulsory.
2) Figures to the right indicate maximum marks for each question.

1. A) i)Fill in the blanks with suitable articles: 05
After __ second surgery, _____ Sheikh sent Raghavan _____ thank you carly -
umbrellaand______jar of Almond sweets. &

¥
ii) Fill in the blanks with suitable prepositions: ol ? 05
Anavyship___ aroutinevisithadgone____one_____thesmall P()fT.S Italy, where

it parked the dockside.

B) Do as Directed: ~ ' 10
1) Politics___ adirty game. (is, are)
2) He __ five miles aday. (Use the correct tense of Walk )
3) Youdon’tagree withthe solution, _____ (Adda questlon tag)
4) The servant washes our dishes. (Change the voige)
5) Tom said to Harry, “We are moving into a new house.” (Rewrite in indirect speech)
6) Idliandsambar _____the breakfast in many homes in the South. (makes, make)
7) He was always scolding his childrem-{Fewrite in simple present tense)
8) Mr. Sawant owns a scooter. (Adflﬁquest:on tag)
9) “Thadno anxiety and no hlgh ambmons » Calvin declared. (Rewrite in indirect speech)
10) He had excellent grades ygl ‘he did not get the job. (Make it a simple sentence)

2. Read the passage and answer the questions that follow:
Conflicthad exmted between Spain and England since the 1570s. England wanted a share of the
wealth that nghn had been taking from the lands it had claimed in the Americas.

Elizab&ﬁ 1, Queen of England, encouraged her staunch admiral of the navy, Sir Francis Drake,

to raid Spanish ships and towns. Though these raids were on a small scale, Drake achieved
m.dmmat:c success, adding gold and silver to England’s trcasury and diminishing Spain’s supremacy.
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2 Q.P. Code : 760904

Religious differences also caused conflict between the two countries. Whereas Spain was Roman
Catholic, most of England had become Protestant. King Philip II of Spain wanted to claim the
throne and make England a Catholic country again. To satisfy his ambition and also to retaliate

against England’s theft of his gold and silver, King Philip began to build his fleet of warships, the .-

Spanish Armada, in January 1586.

Philip intended his fleet to be indestructible. In addition to building new warships, hema:shated
130 sailing vessels of all types and recruited more than 19,000 robust soldiers and8 000 sailors.
Although some of his ships lacked guns and others lacked ammunition, Phllm was convinced
that his Armada could withstand any battle with England.

The martial Armada set sail from Lisbon, Portugal, on May 9, 1588, but bad weather forced it
back to port. The voyage resumed on July 22 after the weather became more stable. The
Spanish fleet met the smaller, faster, and more maneuverable English ships in battle off the coast
of Plymouth, England, first on July 31 and again on August 2, The two battles left Spain vulnerable,
having lost several ships and with its ammunition depleted. On August 7, while the Armada lay at
anchor on the French side of the Strait of Dover, E":g,l.md sent eight burning ships into the midst
of the Spanish fleet to set it on fire. Blocked on ore side, the Spanish ships could only drift away,
their crews in panic and disorder. Before the Armada could regroup, the English attacked again
on August 8. :

Although the Spaniards made a \qahdnt cffort to fight back, the fleet suffered extensive damage.
During the eight hours of battle;iﬁeAImada drifted perilously close to the rocky coastline. Atthe
moment when it seemed thaithe Spanish ships would be driven onto the English shore, the wind
shifted, and the Armada @ifted out into the North Sea. The Spaniards recognized the superiority
of the English ﬂee;jngzd returned home, defeated.

Questions:

B

What werg the different reasons of conflict between Spain and England?
What«é;deg Philip do to make his fleet durable?
thﬁtlwas the outcome of the battles of Plymouth?

Why were the Spaniards finally defeated?

Give the noun form: (i) Satisfy (i) Retaliate

03
02
03
02
02
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6. Find words from the passage that mean the following : 05
(1) very loyal and committed
(if) to decrease in value
(111) exposed to possibility of being harmed
(iv) dangerous or very risky
(v) showing courage or determination
7. Write whether the following statements are true or false: o 03
(i) King Philip IT was a Protestant. oot :
(ii) The Spanish Armada proved to be indestructible. 5 i
(111) The English ships were better than the Spanish ones. : g

3. Attempt any two of the following: 20
(i) Write an application letter in response to the following advertisement:
“Wanted Bank Clerk, aged not more than 30 years, havipg good communication skills and
knowledge of computer (Word and Excel) for a Multinational Bank. Apply to P.O. Box 21098,
The D.N.A., Mumbai - 400 016. Candidates willing to travel to other metro cities only need

apply.”
(i) Apply under R.TLI. for information regarding repair of potholes on the main roads in your area.

(iify Write to a lecturer requesting hirr@i:r' to give you a recommendation letter to enable you to
apply fora job as a teacher in a\;gi*ifhary school.

4. A) Interpret the following data and write your analysis in about 150 words : 10

Sports Activities in V.N. School

Gymnastics

(11%) Swimming

{21%)

Tennis 5
(2%) £

Track

(20%) ‘ Soccer

(z0%)

TURNOVER
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B) Interpret the following graph and write your analysis in about 150 words.

Hours warked by married men and women in paid emplayment

-18 p— i S IR

5. Attempt any one of the following essays in about 250-350 words.
) The Pros and Cons of Social Networking
i) Should mobile phones be banned in colleges?
iif) Abortion : Pro-Life v/s. Pro-Choice

de ek o ok ok sk de ek de ok

W poid wors
£l unpuid work

at home
B woeal

10

20
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Q.P. Code : 786901
( 3 Hours ) | Total Marks : 100

Prescribed Texts :
(1) Terms and Concepts
(2) Short Stories :

O'Henry : "The Last Leaf"
H. H. Munro . "The Open Window"
Oscar Wilde : "The Nightingale and The Rose"
Edgar Allan Poe : "The Tell-Tale Heart"
Katherine Mansfield : "The Doll's House"
Kate Chopin : "The Story of an Hour"
(3) Novels : Jane Austen : Pride and Prejudice
OR

Robert Louis Stevenson : Dr. Jekv!l and Mr. Hyde

N.B. : (1) All questions carry equal marks
(2) Figures to the right indicate full marks
(3) Answers should be relevant to thic questions asked

I.  Write short notes on Any Four : 20
(a) Setting as an important elerent of the short story
(b) Various elements of ploc
(c) Characteristics of the Picaresque Novel
(d) Stream-of-Conscicusness Novel
(e) Historical Novel
(f) Graphic Novel

2. (a) Examine the appropriateness of the title "The Last Leaf" by O'Henry. 20

OR
(b) Write a detailed note on the plot of the story "The Nightingale and The

Rose" by Oscar Wilde.

3. (a) Discuss the role of Women Characters in Pride and Prejudice by Jane 20

Austen.
OR
(@) How does Jane Austen criticise class structure in Pride and Prejudice ?

TURN OVER
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OR

3. (b) Critically analyse the relationship between Mr. Utterson and Mr. Enfield g
in Dr. Jekvil and My Hyde.
OR
(b) Elaborate on the plot of the novel Dr. Jekyll and Mr. Hyde.

4. Write short notes on Any Two : 20
(a) Plot summary of "The Open Window"
(b) The narrator of "The Tell Tale Heart"
(¢) Setting of "The Story of an Hour"
(d) Underlying theme of the story "The Doll's House"

5. Write short notes on Any Two ; 20
(a) Importance of the Lydia - Wickham episode
(b) Elizabeth Bennet
(¢) Theme of parenthood in Pride and Prejudice
(d) The use of irony in Pride and FPrejudice
OR
5. Write short notes on Any Two : 20
(@) Duality of human nature in Dy Jekyll and Mr. Hyde
(b) Significance of the title Dy Jekyll and Mr. Hyde
(¢) Element of mystery in the novel D- Jekyll and Mr. Hyde
(d) Importance of reputation in Dr. Jekyll and Mr. Hyde

o
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N.B.: (1) All questions are compulsory.
(2) All questions carry equal marks.
(3) Figure to the right indicate marks to each sub-question.

1. Attempt any two of the following;:-
(a) Explain the nature and scope of Philosophy. 10
(b) What are values? Explain the different types of values. 10
(c) Whatis Ethical Relativism? State the arguments defending Ethicai Relativism. 10

2. Attempt any two of the following questions:-

(a) Elaborate on the concept of Nishkamakarma in Bhagvad Gita. 10
(b) Explain the concept of Sthitaprajna in Bhagvad Gita. 10
(c) Explain the concept of Rta and Rna. 10

3. Attempt any two of the following questions:-

(a) Bring out the views of Socrates with respect to ethics. 10
(b) Explain wisdom and courage as virtues propounded by Plato. 10
(¢) For Aristotle, "Virtue is habit'- Discuss. 10

4. Attempt any two of the following questions:-

(a) Explain the theory of determinism. 10

(b) Evaluate indeterminism as a theory of freedom. 10

(c) Does self determinism succeed in reconciling determinism and freedom- 10
Discuss.

5. Write notes on any two of the following:-

(a) Descriptive ethics and Normative ethics 10
(b) Purusharthas 10
(¢) Temperance and Justice 10
(d) Freewill 10

[ TURN OVER
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(3 Hours) [ Total Marks : 100
N.B.: (1) All questions are compulsory.
(2) All questions carry equal marks.

(3) Figure to the right indicate marks to each sub-question.

I. Attempt any two of the following:-

(a) Define Philosophy Explain the various branches of Philosophy. 10
(b) What is a value? Distinguish between intrinsic and extrinsic value. 10
(c) Explain in detail Ethical Relativism. 10

2. Attempt any two of the following questions:-
(a) Bring out the concept of Nishkama Karma Yoga as discussed in Gita. 10
(b) Explain the concept of Sthitaprajna in Bhagvad Gita. 10

(c) State and explain the four purusharthas mentioned in Indian Philosophy. 10
3. Attempt any two of the following questions:-

(a) Bring out the important characteristics of Socratic ethics. 10

(b) Explain in detail the four principal virtues propounded by Plato. 10

(c) Bring out the concept of ethics according to Aristotle. 10
4. Attempt any two of the following questions:-

(a) What is determinism? What are the various types of determinism? 10

(b) Give a critical appraisal of indeterminism as a theory of freedom. 10

(¢) How does compatibilism reconcile determinism and freedom-Discuss 10

5. Write notes on any two of the following:-

(a) Facts and Values 10
(b) Rta and Rna 10
(¢) Characteristics of Greek Ethics. 10
(d) Froblem of freedom 10

| TURN OVER
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N.B. : (1) All the questions are compulsory.

L.

(2) Figures to the right indicate marks assigned to each sub-questions.

Attempt any two of the following :-
(a) What is sociology? Bring out its nature.
(b) Examine any two theoretical perspectives in sociology.
(c) Explain how Sociology can be useful as a career oriented subject.

. Attempt any two of the following :-

(a) Examine the contribution of Weber related to types of authority.

(b) Discuss how the present society has witnessed alternative family forms.

(¢) Examine some of the major types of world rehigion.

. Attempt any two of the following :-

(a) Define culture. Bring out its main characteristics.
(b) Discuss in detail the idea of global culture.

(¢) Whatis ethnocentrism? Discuss in detail advantages and disadvantages.

. Attempt any two of the following :-
(a) Discuss the social dimensioa of media in the context of social networking.

(b) What is media? Explain tiie role of media in politics.
(¢) Bring out the function of media in the context of elections.

. Attempt any two short notes :

(a) Sociological imagination
(b) Family

(¢c) Terrorism

(d) Media and advertising

100

10
10
10

10
10
10

10
10
10

10
10
10

10
10
10
10
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N.B.: (1) All questions are compulsory
(2) Each question carries equal(20) marks.
(3) Draw neat diagrams wherever necessary.

I. Attempt any two of the following :
(@) Explain the concept of 'opportunity cost' with the help of three examples.
(b) 'Poorly paid workers are likely to be less efficient than well paid workers'.
Which principle of economic is applied here? Justify.

(c) Explain the role of government in improving market ontcomes with the
help of three examples.

2. Attempt any two of the following questions :

(a) Explain the concept of an economic model with the Circular Flow Income.
(b) "Womens' education is good for the society'. This is a positive economic
statement. Justify.
(c) Plot the graph for the following function
Y=2+3X

3. Attempt any two of the following :

(a) Given the demand schedules of two individuals, derive the market demand
schedule and market demand curve.

- Price Individual | Market |
j (in Rs.) | Quantity Demanded (in units) Quantity Demanded (in units)
.4 4 | 6
30 6 9
20 8 12
e 10 | 15

(k}  Explain graphically the steps to analyze the changes in equilibrium when
the demand curve shifts to the right.
(c) What is a price ceiling? When is it effective?

| TURN OVER
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4. Attempt any two of the following :

(a) Explain the concept of 'Absolute Cost Advantage' with the help of two
examples.

(b) 'Countries gain from trade'. Explain this statement with the help of
'Comparative Cost Advantage' principle.

(c) Given two individuals, A and B producing two goods, cotton and onion,
the schedule of cost of production is as per the table below :

i”“'\,\\\\u\- GOOdS - Hours [‘]eeded tO prOduce 1 kg Of the gOOd

Ind1v1dualq _ Cotton A 7Omon B 71
1 lnd1v1du§11A | 20 hours/unit - ! 10 hours/ umtﬁ 7
| Individual B 5 hour/unit

| 8 hourc' unit

5. Attempt any two of the following :

(a) Explain the concept of 'externalities' with the help of two examples.

(b) Explain the role of assumptions in economic analysis.

(c) Write a note on the policy of 'frec trade'.

(d) Ata given price of Rs.5, the demand for commodity X' is 10 units. When
price of commodity 'Y', a close substitute of increases from Rs. 5 to
Rs. 10, the demand for commodity X rises to 20 units. What is this type
of change in quantity demanded called? Illustrate this graphically.
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